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HPAS (Main)—2013
COMMERCE AND ACCOUNTANCY

Paper 1
3 Houwurs Maximum Marks : 150

— Afttempt five guestions in all. Q. No. 1 is compulsory.

All questions carry equal marks.
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Z Ltd. has head office at Mumbai and branches in
other cities. It supplies goods to branches at cost plus .
25%. Accounts are kept at the head office from where
all expenses, except petty expenses are paid. Branches
are allowed to maintain petty cash balance of Rs. 400
on imprest system. From the following balances,

P.T.O.
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prepare Branch Account assuming th=t accounts are

closed on 3l1st Decumbaf each wear
Balances on 1-1-Z2013 ai Branch :
Petty Cash

Stock at selling price

Sundry Debtors

Sundry Creditors

Furniture

Rent paid upito 31-03-2014

Wages outstanding

Transactions for the year 2013 :
Coods sent to branch less rcturns

Cash Sales

Credit. Sales

Allowances to debfors

Cagh received from customers

Rs=.

400

20,000

4.000

1,200

10,000

300

100

1,000,000

80.000

45,000
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Bad Debis 20
Discount 180
Cash purchases by branch on

pcrmission from H_O. 10.000
Cash paid to creditors 5,000

FPavmenis made Dy H.O.

"

Rent for one vear paid on 1-4-2013 1.800
Salaries upte Nov., 201 2,200
Insurance paid for onme year om 1-4-2013 260
\‘;-’a gZes o 100

Payments make by Braanch =
Petty expenses 180
Cther expenses S00

Balance on 31-12-Z2013

"

Creditors 3.000
Stoclkk at cost 30,000

Charge 10% depreciation on furniture

P.T.O.
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10,000

300

100

1.00.,000
80.000

45,000

40,000

180

10,600

8,000
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(ce) How are shares forfeited ? Can forfeited shares
be roizsued at discount 7 Give journal entries

for forfeiture =and reissue of shares. 15

bl What de vou mean by Amalgamation and
Abs.orption of Companiecsg ? What is the difference
between the two 7 When amalgamation,
absorption and reconstruction of a company is

necessary ¢ 156
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What are the merits and demerits of time rate
and piece rate systems of wage payment 7 State
the situations where cach of these svsiems is

—

effective and uaseful ? 15

The follov.'ing" annual f:harg'es are incurred in
respect of a machine where manual labour is
aimost nil and where the work is done by means
of five machines of exacily similar type and

specifications

22 Rent and Rates (proportional to
the [Ioor space. occupiced} for the
shop 48,000

() Deprcciation on cach machine 5,000
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C 9 ) Comm. &
Repairs and maintenance for
five machines
Power (as per metre)l) @ Rs. 10
per 16 units consumad for the
shop
Eleetric charges for the light in

the =shop

Attendanis : There arc two
attendants for the five machines and
they a;‘e each paid Rs. 600 per
month.

Supervision : For the five machines
in the shop there is one supervisor
whose emoluments are Rs. 2,500 per

month.

Acco.-1

10.000

37,500
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(viii) Sundrv supplies, such as Lubricants,

-

Jute and Cotton waste, ete. for the

shop. 4,950
- {ix) Hire-purchase instalment payable for

the machines (including Rs. 3,000 as

interest) W 12,000

{x) The machine uses 10 units of power

per hour.

Calculate the Machine Hour Rate for the year. 15
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(vif) THHETOT @ HIHINSN SRt H/IEI =
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Define and characterise Marginal Costing. Discuss the
practical application of marginal costing in decision
making. Also point out the dizsadvantges of marginal

costing. 30
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ez ) “An muditor is a watchdog and not a bloodhound.”
Explain this statement with illustrations. i5
(430 What lczal considerations would you take into

account in regard o distribution of profit 7 10

() Draw up an andit programme for an educational
institution. 5
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6. ez} From the following particulars of Mulcund Bihari,

compute the gross total income for the

A8zcssment year 2014-15 3

20

-Rs.

(e} Salary reeceived 72,000
)  Shori-term capital gain 48,000
{iiF) Long-te_rm capit:al Toss 80,000

(v} Interest on debenturecs of company 24,000

@) Profits from naintaining horses for
herse races in M umba=ai 36000
@) Loss from maintaining horse for
races in Chonnai 24000

(22i) Profits of business beforoe

depreciation 36,000
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p—

(wizz)l Los= from house praperty iet

onut 1.20,000
Gxy CTCurrent vears depreciation 12,000

{z) loss {rom Dbusiness set-up in firee

trade zone 24 000

Dhifferenidialte between Tax Avoidance and Tax

Fyvasion. 10

(=) == Taert = fa= Emmsm 3§ s-fHgrsr =39

2014-15 =% T8 S=9f ==l 95 1= Skt IO El

FEif=a 2

(£ mfa' aa+ _ 72.000
G5y SATSGHIEA el Ewnrs i 48,000
(fF) Tr=EFHIeA 9ol 84 60,000

P.T.0.
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oy TSRO T TETEE X TS 24 .000
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(viy =13 A gsais = fou =Sl B Jy
g LA A% B0 24,000
oin =R = oo (g8 F e ) 36.000
(o PRI T = = g Eea
T T4 1.20.000
12,000
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i 24,000
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D iy What iz J.etier of Credit 7 How many parties

are involved in it 7 What are different Ly pes

of Letter of Credin 7 15
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&) Describe

{Z) Concessions to small industry under Central

Exeise Act

£ Main features of HP Value -Added Tax. 15
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Discuss the relative merits of {(a) Pay-back, (5) Internal

Rate of Return and (¢} Average Yield om Investment

as tochniques for the appraisal of investment worth.

Why Intermnal Rate of Return 1is called internal X

rate 7 B 30 *©
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